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There are THREE sections in the paper A, B and C.

AFA-T 7 X GGT 1 F G 10 577 F IR A | TeiE 9T G 3% H 8
T G 10 7T FGIHE TFR & FEA F 8 |

Answer all the 10 parts of the question No. I in Section A. Each part
carries one mark and all 10 parts have objective type questions.
QT-a & 8 ¥l 4 @ f=d1 6 WA & IR QAT | FeAF oA 3 3% 1 8 ¢
§71 5 ET / 50 WGl A 377 AT |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within § lines / 50 words. _
dFa-d 3 6 Fo 7 @ fT 4 T & I G0 | 5w T 8 3% 1 8 v
e77 15 137 / 150 911 5 37 GifrT |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

Vel T F T 97 H FHAR T G Fed HHAT |

Solve all the questions of a section consecutively together.

2 uTeIaT 7 3 817 1 Rt A s sang 8 A 8

Only English version is valid in case of difference in both the languages.

JWH - T

Section — A

1. () ey fafyy &1 v foress fore e sman 2 2

(a) Taofarcrs qafqem (b) —HWE G @A
(c) @& Higad (d) F9H T

Dalphi method is used for

(a) Judgemental forecast (b) Time series forecast

ET " (¢) Associative model (d) All of the above

(1of4) P.T.O.
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HafYr 1-2 3 t-1 1w wEw: 10 3% 12 2 1 799 fafa & sem s safa o f
w2

(@ 10 (b) 11

(c) 12 (d 14

The demand for period t-2 and t-1 is 10 and 12 respectively. As per naive
method, the demand for next period “t’ is

(a) 10 (b) 11

(c) 12 (d) 14

afe et srafy & foru arcafaes @i 150 o1 2 fea qafgem win 170 3978 o |
gariar Afe 2

(a) +20 (b)y 20
(¢) -10 (d) +10

If the actual demand for a period is 150 units but forecast demand was 170
units. The forecast error is

(@ +20 (b) 20

() -10 (d) +10

o 1 & fop 3am & foru 311 Sietary e Bt 2 7

(a) <HIH (b) FHE@

(c) ©T3E dca (d) HiemEEA

For which of the following industry humid climate is helpful ?
(a) Cotton (b) Steel

(¢) Light bulb (d) Automobiles
frafefaa # @ #19 i e Fiwm 3 fg=o vt = fean i 2 2
(a) wmt (b) Fauf

(c) wfsran3 = uhtetu (d) =

Which of the following process is not a part of the production planning and
control system ?

(a) Routing (b) Scheduling

(c) Integration of process (d) Follow up

e faarea o & wanfaa gan 2

(a) HATHIA g9y (b)  HIL g&ran

(c) Wit I9am (d) 39 gt
Capacity planning has been influenced by

(a) Operation time (b)  Operator efficiency

(¢) Machine use (d) All of the above

.
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(vii) o1 fo=t gRY SeqTea Sl i EIATA Hi ATUHA Bl 2
(a) @t &1 W & geelt wfshan § 9
(b) 3w Ay 3 S
(c) @t =i ufsran | wfskan a6 I &
(d) W H gt

Dispatching authorizes the start of production operation by

(a) Releasing the material from store to first process.
(b) Issuing of drawing instruction sheets.
(c) Releasing the material from process to process.
(d) All of the above

(viii) T = fram &1 wam feen s 2

(a) SN T (b) TR FHE

(c) el farE (dy faufoo

Johnson’s rule is used for

(a) Sequencing problem (b)  Assignment problem
(c) Apggregate plannmg (d) Scheduling

(ix) &2 W Ierea F fere 3 i 9 areft wefid 2

(a) faum 3gwa wef (b) TR 389y HI
(c) U ¥ H HaTfera wefia (d) Ig-Taarfea wefH

The machine used for mass production are

(a) Special purpose machine (b)  General purpose machine
(¢) Manually operated machine (d) Semi-automatic machine

(x) fafmfor § MPS i ot & @ @it 2 2

(a) fafrmtor seaes @z (b) =IAaH IeATE HEAFA
(c) iftreran IeuTeA @2 (d) WL IeaTed HrEwd

What is full form of MPS in manufacturing ?
(a) Manufacturing production sections

(b) Minimum production schedule

(¢) Maximum production section

(d) Master productions schedule

Qg — &t
Section - B

2. e i Feqdhiiern JaTTAE F12 7

What is long term and short term forecasting ?

3. wafa, 7 3 e et % e i s i |

Explain estimation of trend, cycle and seasonality components.

4 G ¥ T 99 ] TG i arel s = aeh fafiad |

Write any four factors affecting site selection of plant.
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5. mea Ieare gfaw fesred & an | wa | ford |

Write in brief about plant production facility design.
6. e Sgge F ATLZ H HI AR HifAd |

10.

 §

12.

13.

14.

15.

Explain updating of production schedule.

FCFS., CUSTPR 31 SPT &l et % feifiad |
Write full form of FCFS, CUSTPR and SPT.

Had Ieared & foru foren feamga w7 2 7

What is system design for continuous production ?

R IEATEH &1 UehIehiv] T 8 7
What is integration of master production ?

e —

Section - C

Tl gfe siea 3t s gfdm sied % Igrem afg vl w |

Describe simple moving average and weighted moving average with example.

wiftite et it R diswe Srggfer i s F |

Explain aggregate planning and master production scheduling.

fafirm s 3it Sggfem qeient &t samen Hif |

Explain various sequencing and scheduling techniques.

ferfirst vy Faereti <61 s i |

Explain various dispatching rules.

Hrft StavEesal 3 A srggfer omet @ aa F |

Describe material requirement and shop scheduling system.

fipe ST % edidA i faveru & fafim aeren @1 avi Hif |

Describe various techniques of analysis and evaluation of system performance.
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